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MARKING SCHEME FOR PAPER 1

NO SCHEME MARKS
I(a) |33)-1 K1
salah,p = 8 N1
+1
®) y:3x—1andx:y——§— Pl
L1 3+6(22) ; Kl
T
=2 a1l NI
x-1
5 marks
2(a) | N1
3
b K1
(®) Length AB = gx
K1
Area AABC = ~x (Ex) or ~x2sin 60° or
27\ 2 2
_1(V3 2 i
Area of sector ABC = = (7 x) (5)
1_(V3 1(v3 \* (n K1
x(29)-3(F9) )
gxz - E;-Cj or equivalent N1
5 marks
3(a) |a=5+a=—(p—1) or (a—5)a = 2p orequivalent K1
(a — 5)a = 2(6 — 2a) or equivalent K1
a=4 orp=6-2a Kl
x=—-1,x=4 N1
b) |p=-2 N1
5 marks
4@) | Sy — S5 = 2[2(45) +19(3.5)] — 2 [2(4:5) + 4(3.5)] Kl
697 N1
(b) |230+ (n—1)(—4) <40 K1
n =49 K1
38 N1
5 marks




5 | 22Vx+1) —1(2Vx—1) Kl
(2vx - DI+ 1)
2Vx+ 3 N1
4x — 1
®) | p-g-2yp—aqp+q +p+gq=1 Kl
4p-q)p+q)=(1-2p)* or 4p—q)p+q)=(2p-1) K1
_J4p-1 N1
2
5 marks
6(a) " (x-3)(3+Viz-x) K1
im
=3 (3-V12=x)(3+V12—=x)
3+412-3 Kl
6 N1
b (¥ _ ., _ 1 K1
dx-—Zx 2 or mrp= 7
1 K1
2x -2 = ‘—E
1 1 N1
Bl =ikt
6 marks
7(a) | —18 Pl
kx3 K1
(b) y:_;C__x2+C
c=7—§ orc:—j-k—ll K1
k 8 K1
7 — § = §k - 11
= K1
y=2x3—x%+5 N1
6 marks
3A
8@ | 1- 252> Ki
1—2p2 N1
(b) cot?6 +1 1 cos® | sin@ K1
cot B or tanf + tan 6 sin 8 cos @
cosec?9 sec?8 c0s?6 +sin @ K1
cot @ et tan 6 e sin 6 cos6
2 N1
sin26
5 marks




9(a) | i) logsy =logsh+ (x —2)logs k N1
i) x — 2 N1
(b) 1)m<0 N1
iiyh=— N1
27
p—3=-3+B-2)logzk K1
k =3P N1
6 marks
10) | 3 (k2 +2j) +2 (ki+3j)=i+12) Kl
3k +2k—1=0 K1
k= % and k = -1 N1
(b) [62 + 122 K1
6v5 kmj " or 13.42kmj™? N1
29657 N1
6 marks
11(a) | 3! % 6! K1
21 21x 2!
540 N1
b |+2)n+1DM)n-1! . K1
(n—1)! B
n+2)(n+1)=30 K1
n=4 NI
5 marks
12(a) | X=1{0,1,2,3} N1
0 3
(b) P(X=0)= 3Cox (%) X (%) or equivalent OR correct Tree Diagram .
X=r i} i 2
PX=0) | 029630r = | 044#derd | 022220r2 | 0.03700r LS




© [ Pa=m
4
0. 41
0.3+
0.2
Q. 14 N2
(Paksi-1
) | A % M Graf -1)
(d) 7 N1
— or 0.2593 / 0.2592
27
6 marks
13(a) | Seen using gradient or area or vector or equivalent method and substitute K1
the correct value of (x, y)
P,Qand S N1
Tand R N1
d) [(1)% + (=5)? K1
JE =072+ -0? = V26 Kl
2+y2-26=0 N1
8 marks
14 |4x+2y+3z=680,2x+3y+2z=620,x+ 4y +2z=690
(at least | correct- P1, all correct-P2) F2
x=690—-4y -2z or x=310—-§y—z or equivalent Kl
(for x)
690—4y—2z=310—§y—z
z=380- gy or equivalent Kl
(for z)
3 5 5 .
4[310—=y— (380 —=y)] + 2y + 3(380 — =y ) = 680 or equivalent K1
2 2 I+ % e i (to find y)
Senior citizen = RMS50, N1
Adult = RM120, N1
A child = RM&0. N1
8 marks




Pl

15(a) | Seen gf (x)
gf (x)=0.025 (x— 100 000) Pl
(b) |0.025(225 000 — 100 000) or replace x=225 000 in the composite function K1
from (a)
2000 + 0.025(225 000 — 100 000) K1
RMS5125 N1
(c) | 2000 +0.025 (x— 100 000) > 8000 K1
x> 340000 K1
Minimum sales = RM340 000 Nl
8 marks




